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_easnn 1241 Learn Froven Yogurt Recoe

7 Cups yogun

Convert Customary Units Micayla s Making 10zen yogurt e e

How many pirts of yogurt does Mikayla need? Bt
For how manyy minutes does she need to freeze ye

the yogurt?

Mie yomge 1. v vl wul snpe

¥ rewen I-:%N-(

Be Curious

A L0 = 2 v
2y = | Quanr
A Garis = | gaten

How are they the same?
How are they different?

YOu Oiacie 1O COMwert CUps 10 pints Choosing Tocs
/.)-3-3 YWhat ceher 1001 could you use
' 10 COrvert units?
Moy neecs 35 pints of yogun
-
'-°' II‘D‘M 'n.-~---{
o~ &0 saconss 5 | minirce
- o 2 * X = S0 mirates = | Rolr
O 1S 30 45 60 A s o b s

b e oo}

You multiphy 10 conwvert haurs 1o mindtes
3 % 60 = 45
She newds 10 freese e yogurt or 45 men e

YOU Can use mMultoicahon Of ONSION 10 COMvert CusiDmary unts of
T osurement e units of terwg

Q work Together

A SChoal BOSES & winik 1O CHhaty Tt I & mies NG MOw NG S The

woll i yaorddss

7.040 yards

What hohavoes have helped
YOu be successiyl i the past?




@D |s8

On My Own

Noare

Which operation will you use for the conversion?

Explain your reasoning.

1. Cups 10 Nukd ounces 2. "OuUs 10 O3ys
multiplication; finding division; finding fewer
more of a smaller unit of a larger unit
Complete the conversion.

$Bn= 3 4 27= 4000

8 Bot= 2 gl 63yy= I m™

TaRor= 3 b B ivw 240 mn

9. A basketball court is B4 eet long. How does B4 feet compare
1o 30 yards? Explain how you know

84 feet is less than 30 yards, Sample answer:
30 x 3 = 90, s0 30 yards is 90 feet, and 84 is
less than 90,

10. Jamos noads this much 1Hbon o an

art prosect How many Inches of ribbon i'
does e need? Bin,

Usit 12 « Weausssunt ot Due W9

@ refiect

. Extend Your Thinking A rope is 100 inches ong

During » reading contest, Mike read for a tote of 120 hours
How many days s equad 10 120 howrs? S days

Aary's dog weoighs 372 ounces. How many pounds coos hor
gog weigh? 17 1b

7
Louren QOes 1Or & walk that Is 5 mile NG Mow Mmany foet G
she wak? 4620 ft

STEM Connection Finn needs 1O Cut & Desce
of woOd thaet |s M4 Inches long. He thanks &
woukd bo omier to measure the pwoe of
wOoOod iIm yarcs Whnat 15 the length in yards?
Explaan your amswer

4 yd: Sample answer: 144 +- 36 = 4

What Is the ength i feet and nches? Explain your reassning
8 it 4 in.; Sample answer: 100 + 12 = 8 with

& remainder of 4, so there are B feet and
4 inches remaining.

How Can yoOu ae MuBipication and divaion 1o COMvert among
differect customary units of moasure?

Answers may vary.

ManCoet
What Dehaviors have
Nefped! yOu De Successtyl
" the pent?




Be Curious
What do you see?

Lesson 12-2
Convert Metric Units

Math is

What helps you be motivated
10 G0 your best work?

- !
Learn AL "-25!9 4
'he mass of a school district’'s new textbook must be - -
NO more than 1.25 kllogrames, and its sgine width must a
be no graster than 2.5 centimeters. Monique measursd =2

the mass of a book in grams and its spine width in millimeters, [—

Can this book be the district’s textbook? (IR 4 oo o ...

Grams are smaller than kilograms

You divide by a power of 10
o convext grams to kilograms.

1250 = W00 =125 | LODO grams = 1 kilpgrom |

The ook has a mass 1.25 kilograms

Centimebters are larger than millimeters, B ———

You multiply biy a power of 10 100 centimgters = | matex
to convert centimeaters 1o millmeters 1LODD meters = 1 niomater

25 X 10 =25

The DOook has 4 thickness of 25 millimetess,

Structure

How can you know when to
You multiply or divide by a power of 10 10 convert | multiply and when to divide

metnc unts of mass, length, ar capacity when converting units?
e Work Together
Wade and Ally converted - - - v =
4 000 milliters to liters - Ao Ally’s work:
using different methods, |[$000mL=71L 4000mL=7L .
How can you justify 4,000 + 1,000 = 4 [ 4,000 X — XD 4

1.000 1000
4000 mL =4 L 4000 mL =4 L

Sample answer: Because there are 1,000 mL in a liter,
Wade divides by 1,000 to find the number of liters.

A milliliter is 1,000 of a liter, so Ally multiplies by

thek reasoning?

1
1.000°




On My Own . C"m) I%

Name

Which operation should you use for the conversion?
Explain your answer.

1. milligrams to grams 2. meters to centimetorns
division; Sample multiplication; Sample
answer: finding fewer answer: finding more
of a larger unit of a smalier unit

Complete the conversion,

3 3L= 3000 mL 4 100mL = 01 L
5. 500 kg = 500,000 g 6. 6km= 6,000 m

72.70mg= 007 g 8. 800 xL. = B00,000 o

9. Andrew’s haight s given in centimeters. What is Andrew’s

height In meters? 1.42 m 142 em

10. Error Analysis A cooler comtains 50 ters of wates Emily
calculated to determine how many milliiters of water are in the
cooder. Check Emily’s work. Did she make any mistakes? if so,
how could she correct hor work?

50 X 160 = 5,000
Thera are 5,000 milinters &F woter
Sample answer: She should have multiplied
50 by 1,000 instead of 100.

Unit 12 » Messorement oo Dals 173

11. The maximum mass an elevator can hold is 450 kilograms.
What is the maxirnum mass in grams? 450,000 g

12. How many liters of water are in the pool?

375,000 L

13. Ryan has a shaet of paper that 15 C75 meters long. What & the
length in centimeters? 75 cm

M. Aga’s backpack has a mass of 9,080 grams. What is
the mass in kilbgrams? 9.08 kg

15. Extend Your Thinking Expiain how you can determine how
many milimelers are in a kilometer.
Sample answer: A meter is 1,000 millimeters,
and a kilometer is 1,000 meters, so there are
1.000 x 1,000 = 1,000,000 millimeters in
a kilometer.

@ Retiect

How can you use multiplication and division to convert metric
units of measure?

Answers may vary.

Mindset

What helped to motivate
yOou to do your best work?




esson 12-3
Solve Multi-Step Problems

Involving Measurement Units

Be Curious
Which doesn't belong?

quarts to gallons
yards to feet

Iiters to milliliters

quarts to cups

What helps you make sense
of a stuation?

Learn

ANME'Ss MOIMNET Neads 10 NaveE Snough water 1o 1 -
¥ warter DOtties Each DOthe NOSs 475 mullliters of weastey

Which water jug should Annle’s mother use? .
'S
™\ )
You can comwart unts of Measuremant 10 Nalp you soNve
the probiem
HMow mary enlililiters of wator does WhHEH water jJus should she une?
Armie’'s mather need o 18 a2t the
Dottieos? JEDO ML w7 L » OO M. » &

> muibliters 10 Rers —
smail 10 large units

EXAS=T ars YOu divitie 10 COMeent
x % 7600 #1000 = 76
2850 . .
=0 Annke's mother needs 76 fers
Armie's mather Nneeds j“'lz"_ Cf weten, 50 e aNouk? use the
7.600 milners of sty 7600 o4 Nne

1
Math Persewsrance

HMOW Can yOu Maks= Sense
of the protiom?

KAOwng NOow 1O COMNvEt unts of MaEasurement
Can hetlp yOou sOohve roldems [hat Mesve
I Nigie shoem

QD work Together

JOrm Srdered g 2yard long sandwich for his party. His guestls #e

win
(

the sancwsch. How many Inches of santwieh e et ?

24 inches




7. Brian Is walking to his friend’s house that is 2.6 kilomeatars away.
@A ! ") IQg
REPLAY

On My Own He stops when he s % of the way there. How many meters does
he still hove o waik?
Name 325
m

1. Adrian has a roll of wrapging 2. Ruby's backpack has a

paper that is 3 yards long. He mass of 4 kiicgrams. She 8. Nell is alming to c;rlnk the amount of water shown per day.

uses _;. of the wrapping gaper removes s book that nas By 3 p.m. she is T of the way 1o her goal. How many more

1o wrap a present. What is the a mass of '20’ g'“:" What fluld ounces does she need to drink to reach her goal?

% Is the mass of Ruby’s B¢ " o)
length, . of the o s pey Oy
HAGHY IV U, 16 U pRpe backpack after she removes 16 fi oz
left on the roll? s book?

A 15t ) ' 9. Tyler wants to send his cousin S books that are each 1.5C0 grams
8. 3t A. 28 kg He has a box that can hold up to 6 kilograms. Wil Tyder be able to
. 3.88 kg use the box he has? Explan
et .
@ C. 388 kg No. Sample answer: He will need a bigger box

because the total mass of the books is 7.5 kilograms.
3. Amy’s family has 2 gallons of 4. Atrack atthe school is

milk in the refrigarator. A% 400 meters long. Jackson 10. Ginga is growing a houseglant. When she measures it at the
dinner, het family drinks -g- of walks around the track 3% beginning of the month, it '5‘3 feet tall. Wnen she measures it at
tha milk in the refrigerator, times. How many kilometers the enc of the month, it s 1 the se it was at the beginning of
o manyzgnp(s: of milk did Jackson walk? 1.4 km the month. How many Inches did the houseplant grow? 9 in.
are lefk?

1. Extend Your Thinking Christa has 3 gallons of water. Jayen has
35 pints of water, Who has more waster? Explain your reasoning,
Jaylen; Sample answer: 3 gallons is the same as
24 pints, and 36 > 24.

5, STEM Connection Finn knows that a cubic yard of
concrete weighs about 4,050 pounds. A cement truck
can hald %0 cubic yards of concrete. How many tons
of concrete can the truck hoks? 20,25 tons

®aw N -

e Reflect

/

How can you sobwe multi-step waord SroSlems involving
units of measurament?

6. Rcbin is selling lemonade. She makes 3 liters of lemenade and

i salis glasses of 250 miers of lemonade each. In the first hout, Answers may vary.
she sels 6 glasses of lemonade. How many liters does she Mindset
have left? 1.5 L What helped you make
sanse of a shtuation?

Unit 12 + Nesswrement and Dote 177




rSS 12-4
Represent Measurement Data

on a Line Plot

Be Curious

What is the question?
X
X X
R N R
B SRR WA X
+t—tt
Water Remaining (in tablespoons)

What helps you be part of
the classroom community?

Learn
Ryan tilled cups with the same amount of 3 1 1 '
water andd set them out in a room 1712z 2 | 7] 2
The next day, he measured the amount x ) . . »
of water remaining in each cuo. 15 1% 1 15 | 25| 3
The table shows his findings
1 3 <3 .y |
How many cups had 2 tablespoons =] 2 121 2 5| =
or more of water remaining?
You can create a line piot to interpret the data
There are In My World
« 4 Xs above 2, When might o fine piot be useful
3 T
" ’Xam?%.:\nd 10 you outside of ciass

- 'anxwu2-2'-

* There are 18 X5, st:{
X X
X X x X klafﬂeasurcmars
XK X
P L I T S
o 1 1l 1 L 4 - 2 4 21 .
4 2 % 1z 12 '3 23 22 2% 3

Water Remaining (in tablespoons)

6 cups had 2 tablespoons or more of water remaining.

You can use line piots 10 see how many measuremeants there are and
how the measurements are grouped tagethes

@ Work Together

How does the line plot show which measurement occurred
maost aften?

1
The measurement 3 has 4 Xs, which is more than
any other measurement.

180 Lessond -



On My Own

Name

EETD|e0

This line plot shows the lengths of varicus mice from nose to the
tip of the tail. Use the line plot to answer the questions.

X X
X X X X
X X X X X
——t—t
1 RS- 1 P 1
43 47 43 5 51 53 53 B gl
Mice Length (in inches)
How many mice are in the 2. How long Is the shortest
data se1? moiuse?
12 mice 4-; in.

How long is the longest
mousa?

,
6: in.

Which meassurement or
measurements occur the
least often?

1. %
4-‘-m.and42m.

How many mice are shorter
than 5 Inches?

2 mice

4, Which measurement or

measurements occurred the
most often?

4 3
53-m.and5‘ in.

6. How many mice are longer
than 5 inches?

10 mice

B. What s the diffcrence i
Inches between the longest
and the shortest mice?

2in,

Uait 12 + Memupernat and Dats 181

9. Create a line plot to represent the dats

§ x Pendll Lengths (in.)
X X X X X
——t—t—t———pepepeei®> | 63 | 61 | 61 | 61
©  sleletcleletexr ? 1
8 3 "8 °2 "8 "3 "8 c%|ed|si|ed
Pencil Lengths (in inches) -
10. How Oud you «xnow how to 1. How did you know how many
latbiel the measurements an the X% 10 place above
line pica? 2ach measurement?

Sample answer: Some
of the measurements
are in eighths, so |
labeled each tick mark
counting by eighths.

12. Are there ary measurerments with 13,

no Xs above them? Explain

There are no Xs above

6, s-}. 6=, or 7: there

are no pencils of those
lengths.

e Reflect

Sample answer: | counted
how many of each
measurement there are in
the table and placed that
many Xs.

Extend Your Thinking Another
pencil wes found It has a length
that s 1% inches shoner than the
longest pencil in the 1able. What
is the length of this new pencil?

3
53 in.

How can YOU use ine plots 1o imerpret measuremeams?
Answers may vary.

Mindset

How were you part of the
classroom community?




12-5
Solve Problems Involving Measurement

Data on Line Plots

Be Curious

What do you notice?
What do you wonder?

How can you show others that you
value ther ideas?

Unit 12 + Mecusonont ond Dee 953

Learn

A tortilla maker put 4-;— cups of corn mead
inten bowis, The e oot shows the

XXX

X X
xX X

amount of corn meal in each of nine bowis H—f—f—’—’—i—f—i—z—'
How much corn meal is in the tenth bowl? o ’-‘T -;'7 i 1

Cormm Meal in Each Bow! {in cups)

Determine the amount of corm meal in each of the nine bowls

2 bow's have % cup each. 2% -;— - %

2Dowsl\aw_~%cwea:h. 2x%=§=-§

3 Lowds "-rl'J!f-;-cW cach. 3Ix -%- =%—=-!BZ-

1 bowl tas % cup % = —g- Quantities
1 bowt bas 1 cup 1= % What could be another

way to add the amounts

2 12 & 8 32
of corm meal?

4
[ B T ag Yod A jomte

The nine bowis hayve 4 cups of cormn meal.

Subtract 1o determing the amoum of com meal in the tenth bow!

1 1
4= — —_——

5 A ‘
The tenth bowt has = cup of corn meal

2

You can soive problems by interprating information given in line plots
and then performing operations.

Q work Together

Based on the line: plot above, whit is the diference between the greatest
amaunt of flour in a bowl and the least amoumt of flour In a Gowl? Explain
YyOour answer.

-;— c; Sample answer: 1 —




On My Own

Name

The line plot shows the weights of various mice,
Use the line plot to answer the questions.

X
X

X X

X X X

X X X X X

L e e LSS SR s s
1 1 8 1 1 1
B E D T
Mice Weight (in ounces)
1. What 3 the combined 2. What is the combined weight

weight of the 4 lightest mice?
1-1- oz
8

&

3. Whm 5 the combined
weight of all the mice?

1
8401

of the mice that weligh
2 ounced? ol

What is the diffecence in weight
between the heaviest mouse
and the fightest mouse? 1 0z

The line plot shows the amount of rain that fell each day in a week.
Use the line plot to answer the questions,

<

o +x

I
U
1

]

e et

£ [ 8

CNT B 24
2 XX

Baf X
v

Daily Rainfall (in inches)

5. What was the total amount 6,
af raindall in inches during
the week? 3 in.

7. Onthe days t rained, what B,
Is the dfference between the

greatest and keast amount
of rainfall?

lin
3 in.

How manry days did & rain
during the week? 6 days

i the same amount of rain
falls the following week, what
S the total amount of rantall
over two weeks? 6 in,

Unit 12 + Messwenent and Dots 188

The line plot shows how much water each player drank during
a basketball game. Use the line plot to answer the gquestions.

x
X X X
x X X X X
., v o iy 86 S
*4—p—p—t—btt— bbb
O ¥ . Y- g E g -
8 4 8 -8B &€& -%
Water Drank (in gallons)

10. What s the diference
between the greatest amount
of water drank ang the east
smount of water drank? 3
a 9@

1. Error Analysis Tony wants to find the 1o1al amount of water
players drank during the game

PO Ky, ] Pyt Ry -3
atgtatgtitgti=4ggallons

Is Tony's work correct? Explain why or why not
No, it is not correct. Sampie answer: He did not
multiply the number of gallons by the number of

tick marks. The correct amount is 9% gallions.

9. How many players drank
water during the basketball
game? 16 players

12. Extend Your Thinking Why s being able to solve pratilems
Iirvolving data on ine plots helpful for analyzing data?
Sample answer: Solving problems involving data on line
plots can help us find sums, differences, etc. which
gives important information and can help explain
information or give predictions about certain things.

e Reflect

How can you use cata displayed on a fine plot 1o solve problems?

Answers may vary.

How did you show others that
you value thelr ideas?

138 LossonS -




For a science assignment, Candice tracked the amount of sugar
that she consumed at lunch for 15 days. She recorded the data in
a line plot,

XXX X
KX X

X X X
X X X X X
G —————

1 3 L S 42 <2 1 1
iz 1§ 13 1§ 15 1% 25 23

Sugar Consumed (in teaspoons)

N

Use the line plot to choose the correct equation below. Do not
solve the equation.

1. What is the difference between 2. What is the tota! amount of

the greatest amount of sugar sugar Candice consumed for
and the least amount of sugar the days she tracked 2 or
that Candice consumed at lunch? more teaspoons?

1 1 1
a @54’474‘43’:?

1
a. 2?-1-=?

1 3 1 1
2;-15-? b. 2425 425=?

¢ 13-13=2? ¢ 2g+2g+25+25="
Explain your choice. Explain your choice.
Explanations may vary. Explanations may vary.

For a sclence assignment, Candice tracked the amount of sugar
that she consumed at lunch for 15 days. She recorded the data in
3 line plot.

LK XX
KX X

X X X
X X X X X
| 1o e s s e e s e e o
TETEIEET

Sugar Consumed (in teaspoons)

Circle true or false.

3. On the days that Candice
tracked 2 teaspoons of sugar or
less, she consumed a total of

~o

—
M.—.
—

4. During the 15 days, Candice
consumed more than
24 teaspoons of sugar in all

less than 7 teaspoons of sugar.
True ‘

@ Explain your choice,
Explain your choice. Explanations may vary.

Explanations may vary.




Unit Review nome

Vocabulary Review
Choose the correct word(s) to complete the sentence,

capacity cusiomary length metric system
convert e ine plot weigh
data

1. Information collected from a survey or experiment is called
dm . Lozson 26

2. The metric system is the measurement system based on
powers of 10 with units such as meter, gram, and Mer. e 2.2

3T _convert 5 measurement to another measurement
means to change the unit of measure used but not the quantity
Of aMOUnt, Lessas 20

4. The capacity

freon 2N

15 the amount a contaner can hold

5. A measuremem system that includes unis such as foot. pound, and
quat s the CUStOMary system ..o

6. A line plot is & type of graph that uses columns of Xs
or dots above a number line 10 show datd, Lees 2.4

7. Mass  measures the amount of matter in an object, Lewe 2
8. Length s a measure of distance. pessn 22

Unit 12 + Messuiement and Dts 189

Review
9,

n

What operation should you use
10 convern seconds to minutes?
Explain your answer, dewen 179

division; Sample answer:
you are finding fewer of
a greater unit

How marnry meters are equal 1c
32 KEOMOTte 1S 7 (Lesson 12-2)

3,000 m

Jolanna has 1-% yards of
decorative tape. She uses 1nch
pieces for her scrapbook. How
mony 1inch pleces of decorative
1ape aoes she have? jewson 2.3
A. 24 pieces

B, 36 pleces

@ 54 pleces

D. 90 pieces

12. it is recommended that a person

sleep 8 hours every night. How
meany minutes does this person
sleep in a year? desson 12 0

A. 48% minutes
B. 2,920 minutes
(©) 175.200 minutes
D. 10,512,000 minutes

190 Usit12 » Bevew

13

15.

17

The art teacher has 3—:— gallons
of paint for & mural on the wasl
The students in fifth grade use
1% gallons. How many quarts of
point are [eft? Losson 120

7qt

How marny metlers equal
400 centimctcrs’ dawson 13-

a4 m

Catherine has a piece of fabsic
that is 3. 200 centimeters long
Sha needs fabric pieces that ore

1 meter long for her quit. How
can she determine the number of
-meter long pieces she has ‘or
her QUIlt? Jessan 2.9

Sample answer: Divide by
100. 3,200 =+ 100 = 32.
Catherine has 32 1-meter
pieces of fabric for

her quilt.

Jomal picked 983 acrams of
biuebemies, How many kilograms of
blueberries did he pick? pasen U3

0.983 kg

An Oiymgic-size pool is

S50 meters long. How can you
determine the length n
centimeters? Lesses 2.3

Multiply S50 X 100 =
5,000. The length of the
pool is 5,000 centimeters.

e

[




The line plot shows the length of the best long jump for each athlete at
a Track and Field meet. Use the line plot to answer the questions.

X
X X X
X X X X X X
- ¥ + 4 ¥ + $ + $ $ + $ —p
i 5 =1 el g3 B 3 2O JOrEec SN 7 ey g TREVEL |
a3 157 S5 15% 63 %5 6% 77 3 73
Best Long Jump (in feet)
18. How many athletes are | 22. How many jumps are longer than
representsd on the line plot? i 16 feet? tovon 124
wemee 29 10 athletes $ 5 jumps
;' 23. How many jumps are 16 foet
19. How long is m:e; longest jump? ' Of SNONMEer? Lesen 04
Leszon U4 17:“ i Sjumps
; 24, What does no mark above a
20. How long Is the shortest jumg? | measuroment mean? Lessos 124
e 15% f ; Sample answer: The best
! jump for each athlete
4 was not that length.
| 25. What is the difference between
21 What measurement(s) occurred | the grestest jump length and the
most often? pessen 2.4 | l2ast jump length? Lessos 2.5
16 feet 2% o

Unit 12 + Nessweomentand Dets ™91

Gl

Performance Task
A town is redesigning a park. It will include a tree house,

Part A: The ree house, that the archilect designed has a
rectangulor ficor, He will use wooden tiles that are 20 centimeters
wide and 40 centimeters long. How many tiles will he need for

a floor that is 4 meters wikde and 8 meters long?

Check students’ work: 400 tiles

Part B: The architect plans 10 use wooden boards 1o build the walis.
The Soards will be different lengtis. The construction manager
needs 10 see what size boards he currently has 1o determine whan
he needs to purchese. Create a line plot to show his current
inventory iisted in the tabie.

Current Inventory X §
Length {feet) | Total x x x x
2 X X x x X X
3 —
7 : 62 7 73 73 73 ® 8%
3
7-; 2
83 3
7-.% 1
8 2
@) reflect

How can you use line plots 10 maxe decisions sbouwt a dats set?
Answers may very.
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